Midterm 2 : 131A

N

May 17 2019

This test totals 40 points and you get 50 minutes to do it. Answer the
questions in the spaces provided on the question sheets. Always show work
unless the question says otherwise. Good luck!

Name :

1D number :

Question | Points | Score
1 10
2 10
3 10
4 10
Total: 40




1. {10 points) Assume s, = V2. Define Spt1 = V28, for n > 1 recursively. Find lim s,,.

Reason rigourously at every step! [Hint: Show s, is monotonically increasing and 2 is
an upper bound]
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2. (10 points) Let s, = (—1)" (2—2—3) for n > 1. Find limsup s, and liminfs,. Justily
your answers rigourously.
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4. (10 points) Let (s,) be a sequence so that |s,41 — s,| < 'S"*#l for all n > 2. Suppose
further that s; = 1 and sy = 2. Show that (s,) is Cauchy. Reason rigourously at every

step!
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